Plantowanie nasypéw
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814,41 4,500
4,250 5,59 23,76
820,00 4,000
3,900 5,62 21,92
825,62 3,800
3,600 13,30 47,88
838,92 3,400
3,350 1,08 3,62
840,00 3,300
3,550 4,05 14,38
844,05 3,800
4,000 5,12 20,48
849,17 4,200
4,100 10,83 44,40
860,00 4,000
3,350 20,00 67,00
880,00 2,700
2,850 2,83 8,07
882,83 3,000
3,150 8,39 26,43
891,22 3,300
3,350 8,39 28,11
899,61 3,400
3,200 0,39 1,25
900,00 3,000
3,050 7,34 22,39
907,34 3,100
2,950 5,50 16,23
912,84 2,800
2,900 5,51 15,98
918,35 3,000
3,000 1,65 4,95
920,00 3,000
2,950 20,00 59,00
940,00 2,900
2,800 20,00 56,00
960,00 2,700
2,600 20,00 52,00
980,00 2,500
2,300 20,00 46,00
0,00 2,100
2,050 20,00 41,00
20,00 2,000
2,000 1,65 3,30
21,65 2,000
1,950 1,74 3,39
23,39 1,900
1,950 1,74 3,39
25,13 2,000
2,100 14,87 31,23
40,00 2,200
2,100 20,00 42,00
60,00 2,000
2,250 1,00 2,25
61,00 2,500
1,250
246,59 707,00

zat. 8



